45 C civil work bill.xlsx

Company	Silver Oak VI	Ilas LLP-III		Name of contra	actor	Biro Porida		Sl. No. site b	oills reg.	1401	
Project/site	Silver Oak VI	llas LLP-III		Nature of work	ζ			Dt. site bills reg.		12-04-2024	
Block no.	45 C			Work done fro	m date	01-01-2024		M-codex bill ID.			
WO no.	NIA YY		05-04-2024		WO issued ?						
WO date	NA			Contractor bill no.				GST bill req			
Sl. No.	o. Unit/floor no Details of work			Qty	Units	Rate ID	Rate	Amount			
1	45 C East	Brick Work					490.50	Sft	CW125	13.00	6,376.50
2		Plastering wo	rk				2165.00	Sft	CW130	16.00	34,640.00
3		Door Frames	Fixing				4.00	Nos	CW137	150.00	600.00
4											
5											
										Total	41,616.5
									Add Profit @	15.00%	6,242.4
							Т	otal amount in	ncluding taxes	for work done	47,858.9
9	BinsDismen	t work in all ro	ooms				9.00	Nos	NA	1,200.00	10,800.00
9						Grand Total					
10									Grand Total	I	58,658,98
									Grand Total		58,658.98
									Grand Total		58,658.98
									Grand Total		58,658.98
									Grand Total		58,658.98
10 Remarks:		ger		Approved by 0	QS team			Approved by	Director/E&D		58,658.98
10 Remarks: Approved	by project mana			Approved by (QS team			Approved by Sign:			58,658.98

Notes: 1. This sheet of heads his fulfation report and advice for credit to contractors. 2. This word form must be typed. 3. Use this form even if work order is not issued. 4. Attach measurement and estimate sheets only if required i.e., details cannot be entered by the property of the

STIMATE SHEET Company Name. 'tropect: Vork Description: ame of the Contractor	Silver Oak Villas LLP-III VSC 45A to 45J 45 C Tast faceing 1st Floor Civil Work.		Approved by: Sign:			
repared By state. No Item Head A Labour charges East side villa	Biro porida J.Kitan kumar 22-03-2024 Item Description	Quantity	Units	Rate	Amount It	em Hoad Total)
Brick work (inside the villa)	Living room, Bed rooms, Kitchen and toilet wall in side the villa	490.50	Sfi	13.00	6376.50	
2 Plastering work	Living room, Bed rooms, Kitchen and toilet wall in	2165.00) Sñ	16.00	34640.00	
Door frames fixing	Bedrooms and toilets D1.D2 side the villa	4,00	Nos Total Amount Profit Percent Total labor	age 15%	600.00 41.616.50 6.242.48 Per Villa	47.858.9
Dismentling of partition walls in sto	re room In all Nine rooms	9.00	Nos	1,200.00	00.008,07	10.5
	Amount In words:- Fifty Eight Thousand Six Hundo	Total Lo	C Per villas & Waght	alls partitio	n dismentling	w. 58,65

APPROVED BY

29 MAR 2024

K FURSHOTMAN

South 2 24

MEAS	SUREMENT SHEET								
	any Name:	Silver Oak Villas LLP-III		Approved	har				
Projec		VSC 45A to 45J		Sign:	oy.				-
	Description:	45 C East facing 1st Floor Civil Work.		orga.					
	of the Contractor	Biro porida							
Prepar	ed By	J.Kiran kumar							
Date:		29-03-2024							
S No.	Item Head	Item Description	Length	Width	Height	Nos.	Quantity	Units	Item Head Total
A	Labour charges	·			rreign	1103.	Quantity	Oiitis	nem ricad rotal
1	Brick work (inside the villa)	Living room long wall	28.00	1.00	9.00	1.00	252.00	Sft	
		Kitchen walls long walls	12.50	1.00	9.00	1.00	112.50	Sft	
		Short wall	10.00	1.00	9.00	1.00	90,00	Sft	
		Master bed room and Childern bed walls	14.50	1.00	9.00	1.00	130.50	Sft	
			65.00	1.00	7.00	1.00	130.30	oit	585.00
		Deduction							363,00
		D1	3.00	1.00	7.00	2.00	42.00	Sft	
		D2	2,50	1.00	7.00	2.00	35.00	Sft	
		Kitchen opening	2.50	1.00	7.00	1.00	17.50	Sfl	
						1.00	17.50	- Dit	94.50
							Net area		490.50
2	Plastering work	Bedroom	21.75	1.00	9.50	4.00	826.50	Sft	470.50
		Toilet	23.00	1.00	9.50	2.00	437.00	Sft	
		Living room long wall	29.50	1.00	9.50	2,00	560,50	Sft	
		Kitchen	14.00	1.00	9.50	2.00	266.00	Sft	
		Passage way	18.50	1.00	9.50	2.00	351,50	Sft	
								O.I.	2,441,50
	Deduction								2,111.50
		DI DI	3.00	1.00	7.00	5.00	105.00	Sft	
		D2	2.50	1.00	7.00	4.00	70.00	Sft	
		Kitchen opening	2,50	1.00	7.00	2.00	35.00	Sft	
		Passage way	3.50	1.00	9.50	2.00	66.50	Sft	
				1100	7.50	2.00	30.50	OI.	276,50
						1	Net area		2,165.00
3	Dismentling of partition walls in	store room					TOT LITTUE		2,165.00
		In all Nine rooms	1.00	1.00	1.00	9.00	9.00	Nos	
							7.11		9.00

Bill for Allowance for Consumables

Biro Porida Pedda Veedhi Village Chinalogidi Borubhadra Mandal Pathapatnam Srikakulam Srika In AP 503504

Date: 12-04-24

In favor of:

Silver Oak Villas-III

Project / Site:

Silver Oak Villas

Location:

Cherlapally

Type of Work:

Civil Work

Towards:

Allowance consumables

S No.	Description	Amount
1.	Brief description of work done:	
	Towards:-Completion of Villa 45 C 1st Floor Civil work	Rs.17,598/-
	Rs. 58,659/	
	Work Done from date: 01-01-24 to date: 05-04-24.	

Amount in words: Seventeen Thousand Five Hundred Ninety Eight Rupees Only/-

Sign:

Bill for Allowance for Equipment

Biro Porida Pedda Veedhi Village Chinalogidi Borubhadra Mandal Pathapatnam Srikakulam Srika In AP 503504

Date: 12-04-24

In favor of:

Silver Oak Villas-III

Project / Site:

Silver Oak Villas

Location:

Cherlapally

Type of Work:

Civil Work

Towards:

Allowance Equipment

S No.	Description	Amount
1.	Brief description of work done:	
	Towards:-Completion of Villa 45 C 1st Floor Civil work	Rs.17,598/-
	Rs. 58,659/	
	Work Done from date: 01-01-24 to date: 05-04-24.	

Amount in words: Seventeen Thousand Five Hundred Ninety Eight Rupees Only/-

Bill for Labour Charges

Biro Porida Pedda Veedhi Village Chinalogidi Borubhadra Mandal Pathapatnam Srikakulam Srika In AP 503504

Date: 12-04-24

In favor of: Silver Oak Villas-III
Project / Site: Silver Oak Villas
Location: Cherlapally

Type of Work: Civil Work
Towards: Labour Charges

S No.	Description	Amount
1.	Brief description of work done:	
	Towards:-Completion of Villa 45 C 1st Floor Civil work	Rs.23,463/-
	Rs. 58,659/	
	Work Done from date: 01-01-24 to date: 05-04-24.	

Amount in words: Twenty Three Thousand Four Hundred Sixty Three Rupees Only/-

Sign: _	
---------	--